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OoZggac|nt gF=d 2,565
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= 18,000
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OAcxisZdZE LR X=H 36,000
= 18,000
= 18,000
ASHES Zggfp2eitised 8,600 7,000 1,600
Jl 4,300
< 4,300
201 er2 3| 8,600 7,000 1,600
) 4,300
= 4,300
03 &A= 8,600 7,000 1,600
OUSHES 289 ?J|2el HsSEH 8,600
Jl 4,300
= 4,300
AEZTEE LRI SEY =SERX 165,000 171,800 16,800
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OXEZHE Y=Y &SR 155,000
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[ 3,960
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Il 13,200
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Il 12,500
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M & g PAYABHEIA 7
CHOlD HIl QU 2ol Rte) (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AXISHHA =22 & 20,400 20,400 0
Ostdlgatlt =& X& 20,400
SO A2 =D ISEH 26,000 0 26,000
= 20,000
= 6,000
403 AXIEHMSA=01d 26,000 0 26,000
= 20,000
= 6,000
01 XM A=E £ 26,000 0 26,000
OstdiZO| 2= I SEL 26,000
= 20,000
= 6,000
SHUIOI TIIGHAFA EI&I AL & RAZKIE 106,080 114,240 28,160
= 106,080
308 AFAIEHMSOIE 106,080 114,240 A8,160
= 106,080
01 HAHHBSEEXS 106,080 114,240 A8,160
OstelloIIIo At TIoH AL &2 X2 106,080
= 106,080
28 FREUSIAL A& 2,400 2,066 334
308 AXIHMSOIA 2,400 2,066 334
01 XN BSEES 2,400 2,066 334
OHIECI2HES RHUSTAL N 2,400
AE HSIRARZ W= 6,120 6,120 0
202 04| 6,120 6,120
01 2L 6,120 6.120
Ogsrx A2 01 6,120
D2LHI HHOlAAA 2ES T 21,690 21,690
101 @124H| 21,690 21,690
02 JIEtx 2= 21,690 21,690
OSS2HAA Y& XE =& 21,690
T2ULHY Al ML EB(34N) X t A,79 A, 792
= 94,792
308 XtXIEMSO0IH 94,792 94,792 0
= 94,792
01 HASHHBSEXS 94,792 94,792 0
OZRZ2LHY Sl oUES(sl1AM) X2 (Hal
ss2el) 94,792
= 94,792
dF2LIH(FSE2eln) 172,686 166,413 6,273
= 13,000
Jl 32,594
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